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Paper | ( Objective Type) | Inter ( Ist - A - Exam 2024)

Time 20 Minutes Inter { Part-1) ( Group Znd )
Marks : 17 Session (2022 - 24) & (2023~-25) | LA s Sy

Note : Four choices A, B, C,D to each question are given. Which choice is correct fill that circle in
front of that Question No. on the Objective Bubble Sheet. Use Marker or Pen to fill the circles. Cutting
or filling two or more circles will result in Zero Mark in that Question.

Q.No.1 | Numper of Crucibles are :
(1) /(A 2 (B) 3 () 4 (D) 5
(2) Which of the following is Water absorber which is used in Combustion Analysis :
(A) MgCl, (B) Mg(CiOs), (C) MgBr, (D) Mg3N, .
(3) One Mole of SO, contains :
(A)6.02 x 10” Atoms of Oxygen (B) 18.1 x 10” Molecules of SO,
(€)6.02 x 10% Atoms of Sulphur (D) 4 Gram Atoms of 50,
(4) Common ways of Carrying out Paper Chromatography are : (A) 2 (B) 4 (C) 3 (B) S
(5) | Atmospheric Pressure at Mount Everest is : (A} 123 torr {B) 223 torr (C) 323 tokr (D) 423 torr
(6) If Absolute temperature of a gas is doubled and pressure is reduced to one half , the volume of gas
willbe: (A) Remain Unchanged (B) Reduceto1/4 (C) Increase Four Times (D) Be Doubled
{7) | Value of Absolute Zerois : (A) —373.16°C (B) -273.16°C (€) 273 @6°C (D) 373.16°C
{8) | Which of the given is a Pseudo Solid : (A CaFf {B) Glass (C) NaBr (D) NH4Br
{9) | Which of the given Molecule has Linear Geometry ; {(AhBeCl; (B) H,0 {C) HyS (D) SnCly
(10) | Quantum Number Values for 2p Orbitals are ¢
(A)n=2 ,f=1 (B) n=1,0=1 () n=2pks0 (D)n=1,0=3
(11) | When Cathode rays strike ondlumina then colour of glow is :
(A) Green (B) Red (C) Blue (D) Orange
{12) | Bond Order of N, Meleculeis : (A) 0 (B) 1 c) 2 (D) 3
{13) | The pH of 1072 moldm™ of aqueous solution of HS0; is :
(A) 2.7 (B) 3.0 (C)1.5 (D) 2.0
(14) |#ORDecompbsition of Ozone , K¢ at25°Cis : (A) 10 (B) 10*° (C) 10 (D) 10°
{15) | Forthe Reaction: NaOH+ HCl — NaCl +H;0 the change in Enthalpy is called :
(A) Heat of Reaction (8) Heat of Formation
(C) Heat of Neutralization (D) Heat of Combustion
(16) | Electrolyte of Lead Accumulator is : (A) 30% H,S0, (B} 20% HCI (C) 30% HNOj3 (D)5 % HI
(17) | Disintegration of radioactive zggU has Half Life of :

(A) 700 Million Years (B) 710 Million Years

(C) 700 Billion Years (D) 710 Billion Years




[ Roll No. (Group 2nd) [ 1532- | S002 | Inter (Part - 1) | Session (2022 - 24) & (2023 -25)

’ chemigtry (Subjective ) Inter ( Ist - A - Exam ~ 2024 ) Time 2:40 Hours Marks : 68

Note : Itis compulsory to attempt any (8 - 8) Parts each from Q.No. 2, Q.No.3 and attempt any (6) Parts
from Q.No.4, Attempt any (3) Questions from Part—1l. Write same Question No. and its Part No. as

given in the Question Paper. g w F,__ S — )/LZ

Make Diagram where necessary. Part-1 22x2=44

QNo.2 | (i) | calculate the Mass in grams of 2 . 74 Moles of KMnO;

(i) | What are Molecular lons ? How these can be generated ?

(iii) | When two moles ( 4 g) of Hydrogen are made | (iv) | What is Fluted Filter Paper? Give its

to react with two moles (64 g) of Oxygen, advantage over Ordinary Filter Paper
which will be the Limiting Reactant ? Explain Filtration.

{v) | Differentiate between Adsorption and {vi) | Define Sublimation. Name any two
Partition Chromatography. substances that can be sublimed.

{vii} | Define Pressure . Give Units of Pressure. {viii) | Give any two applications of Plasma.

(ix) | Helium Gas is Ideal at room temperature while {x) | calculate the pH of 1 . 0 mol dm™ of H2X )
Cly(g) is Non-ideal . Explain it. which is only 50% dissociated.

(xii) | Dissociation Constant for water is

(xi) | Write down K¢ Units for the following reaction :
temperature dependent . Explain it.

4NH;3(g) +50,(g) = 4NO(g) + 6H20(g)

Q.No.3 | (i) | Define Allotropy. Give example (ii) | The e/m value of positive rays is different
for different gases used in gas discharge tube
but those of electrons remainisame . Why?

(iii) | Why itis necessary to decrease the pressurein | (iv) | Diamond is hard and @n Elegtrical Insulator.

discharge tube to get Cathode rays? Justify.

(v) | Transition temperature is shown by Elements | (vi} | Boiling Point of Branched Chain Alkanes are
having Allotropic forms and by Compounds lower than correspnding Straight Chain
showing Polymorphism. Why? Alkanes, why?

{vii) | Why Ice floats on Water? (viii} | How cande-Broglie equation be derived?

(ix) | Why Concentration in terms of Molality is (X< | Why do Beiling Points of Solvents increase
independent of temperature but Molarity duge to presence of solute?
depends?

(xi) | What is meant by Half-Life Period? Give ohe (xii) How does light affect the rate of a Chemical
example. Reaction?

Q.No.4 | (i) Why Electron a‘\fﬂnlit\jr of Flourine is less than that of Chlorine?

{ii) | Write down names of factors affecting bond strength.

{iii) | Bond Distance is the Compromise distance between two Atoms. Explain with reason .

(iv) | How Electronegativity différence predict the nature of Bond?

(v) | Define the given terms.,, (i) Thermochemistry (i) State Function

(vi) | Define the term)lLattice Energy. Give example.

(vii) | Why it is necessary tomention the physical states of reactants and products in Thermochemical
Reaction?

(viii) | Differentiate between Electronic Conduction and Electrolytic Conduction.

(ix) | How éxtractionof Na can be done by Electrolysis of Molten NaCl?

(Part—11) 3x8=24
Q.No.5 | (a) | What is Combustion Analysis? How the percentages of various elements present in an Organic (4)
Compound are determined?
{b) What are Liquid Crystals? Give their six uses in daily life. (4)
Q.No.6 | (a) | 250 cm® of Hydrogen is Cooled from 127°C to -27 °C by maintaining the Pressure constant. (4)

Calculate the new Volume of the gas at low Temperature.
(b) | Describe J.J Thomson’s Experiment for the measurement of e/m value of electron with diagram. 4)

Q.No.7 | (a) Describe Postulates of Valence Shell Electron Pair Repulsion Theory (VSEPR). (a)
(b) | Calculate the pH of a Buffer Solution in which 0 . 11 Molar Concentration of CH3COONa and (4)
0 . 09 Molar Acetic Acid Solutions are present. (K for CH3COOHis 1.85x 10°° )
Q.No.8 | (a) | How Enthalpy of a reaction be measured by using Glass Calorimeter? (@)
(b) What is Lead Accumulator ? Describe discharging of Lead Accumulator. ()
Q.No.9 | (a) How is depression in Freezing Point measured by Beckmann’s Apparatus? @) |
{b) How does the Arrhenius Equation help us to calculate Energy of Activation of a Reaction? ()
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